Chapter 01

Matching Pairs

1 Mark Questions

1. Select a suitable figure from the answer figures that would replace the

question mark (?).
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. Select a suitable figure from the answer figures that would replace the
guestion mark (?).
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. Select a suitable figure from the answer figures that would replace the

guestion mark (?).

Problem Figures

(M T/ (2) fL (3) —LH (4) ?

Answer Figures

(a) IH (b) —LLL (c) HI (d) H_r

Find out the alternative which will replace the question mark.
CUP: LIP :: BIRD:?

(a) BUSH (b) GRASS (c) FOREST (d) BEAK

Find out the alternative which will replace the question mark.
BEGK: ADFJ :: PSVY: ?
(a) ROUX (b) ORUX (c) LQUT (d) LOQT
Find out the alternative which will replace the question mark.
14:9:: 26 :7?
(@) 12 (b) 13 (c) 31 (d)15

. As silence is related to noise, how baldness is related to ?

(a) Peace (b) Hair (c) Whisper (d) Dance

. As chalk is related to blackboard, how ink is related to ?

(a) Point (b) Chair (c) Handle (d) Paper
Find out which one of the given alternatives will be another member of the
group or of that class.
Dispur, Patna, Bhopal, Jaipur
(a) Chandigarh (b) Mysore (c) Pune (d) Indore
Find out the alternative which will replace the question mark.

HJIK: MONP :: PRQS : ?
(a) UVWX (b) UWVX () UXWV (d) UWXV
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2 Marks Questions
11. Find out the alternative which will replace the question mark.
MXN : 13 %14 :: FXR: ?
(@)14 x15 (b) 5 x17 (c)6 x18 (d)7 x19
12. Find out the alternative which will replace the question mark.
335 : 216 :: 987 : ?
(a) 868 (b) 867 (c) 872 (d) 888
13. Select a suitable figure from the answer figures that would replace the
guestion mark (?).

Problem Figures

m ALIO (2) @ @ [1OA (4) ?

Answer Figures

B m A e A e

14. Find out the alternative which will replace the question mark.

KGDHG: FKAJF : : LOWDF : ?
(a) NPXEG (b) GSTFE (c) GTSEF (d) GSTEF

15. Find out the alternative which will replace the question mark.

MIRROR: 90: : TERROR: ?
(a) 90 (b) 93 (c) 94 (d) 91

Answers

1. (a) 2. (d) 3. (a) 4. (d) 5. (b) 6. (d) 7. (b) 8. (d) 9. (@) 10. (b)

M (c) 12. (@) 13. (c) 14. (b) 15. (b)
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